www.sakshieducation.com

Test Paper [} Test Booklet Serial No. :
Test Subject ECONOMICS B SHEGENGE:
Hall Ticket No.
Test Subject Code : | A-05-03 _ L
(Figures as per admission card)
Name & Signature of Invigilator
Name Signature :

Paper :

Subject : ECONOMICS

Time : 2 Hours 30 Minutes

Maximum Marks : 150

Mumber of Pages in this Booklet : 24

Mumber of Questions in this Booklet : 75

1.

Instructions for the Candidates
White your Hall Ticket Mumber in the space provided on the top

of this page.

2. This paper consists of seventy five multiple-choice type of
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questions,
Al the commencemeant of examination, the question booklet will
be given to you. In the first 5 minutes, you are requastad tawopen
the booklet and compulsorily examing it s below

{i} Tohave access o the Question Booklet, tear off the paper
seal on the edge of this cover page. Do not accept a booklet
without sticker-seal and do not accept an open bookiet,
Tally the number of pages and number of guestions in
the booklet with the information printed on the cover
page. Faulty booklets due to pages/questions missing
or duplicate or not in serial order or any other
discrepancy should be got replaced immediately by a
correct booklet from the invigilator within the period
of 5 minutes. Afterwards, neitherthe Question Booklet
will be replaced nor any extra time will be given.
After this verification is over, the Test Booklet Number
should be entered in theeOMA Sheet and the OMR Sheet
Murmnber should be enterad on this Test Booklat,
Each item has four alternative respanses marked (A), (B), (C)
and (D). You have to darken tha gincle as indicated below on the
correct response against sach item.

Example: @ . @

where (C) s the corrégl response.

Your responses o the items are 1o be indicated in the OMR Sheet
given toyou. If you mark at any place other than in thecircla in
tha Answer Shest, itwill not be evaluated,

Read instructions given inside carefully,

Rough Watkis to ke done in the end of this booklet.

If you write your name or put any mark on any part of the OMR
Answar Sheet, except for the space allotted for the relevant
entries, which may discloss your identity, you will render yoursalf
liatieto disqualification.

Yo have to return the test question booklet and OMBR Answer
Shaet to the imigilators at the end of the examination compulsoriby
andmust not carny it with you outside the Examination Hall,
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10, Use only Blue/Black Ball point pen.

11.
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. The optimal bundle of the consumer is
indicated by

A) MRS P—x B MHS &
(A) e P}r (B) :" |::}F
Py Py

(C) MRS < 5 (D) MRS = o
Xy P}f Xy y

. The concept of outside money was
introduced by

(A) J. M. Keynes
(B) Gurley and Shaw
(C) Don Patinkin
(D) Milton Friedman

. The inverted ‘U’ shaped hypothesis was
given by

(A) J. G. Williamson

(B) Simon Koznets

(C) Gunnar Myrdal

(D) G. S. Fields

. Escheat is

(A) A Direct tax

(B) An indirect tax

(C) A Grant-in-Aid

(D) An Administrative Revenue

. The'monetary approach to the problem of

balance of payments deficit was
developed during
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The rate at which Reserve Bank of India
lends to the banks is

(A) Cash reserve ratio

(B) Statutory liquidity ratio
(C) Repo rate

(D) Reverse repo rate

The largest cottage industry in India is
(A) Sericulture

(B) Handloom

(C) Pan masala

(D) Soap industry

Sustainable development seeks to

(A) Meet the present needs without
depleting the natural capital

(B) Meet the future needs at the cost of
present

(C) Meet the present needs without
consideration for the future

(D) Concentrate on the economic
development alone

The targeted growth rate of agriculture
during the Eleventh Five Year Plan was
(A) 3.5% (B) 4.0%
(C) 45% (BY 5:0%
Price elasticity of demand'is given by the
formula
x dx p dx
Ay e =-— = B 8=—"-—
{ } p D dp { } p X dp
x"dp p dp
C) e, =——=— D) e, =—%.—/—
©) & p _dx (D) e x dx
As the number of Explanatory variables

increases, R? value will
(A). Remain constant
(B) \Increase

(C) Decrease

(D) All of the above
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12. According to Marri's model of the
managerial enterprises, the firm is in
equilibrium when it reaches the highest
point on the
(A) Demand-growth curve
(B) Capital-growth curve
(C) Balanced-growth curve
(D) Unbalanced-growth curve

13. Name of the organisation which has
launched the Free Trade Area (FTA) in

January 2002.
(A) SAARC (B) WTO
(C) ASEAN (D) UNCTAD

14. Ministry of labour of the Government of
India advised the State Governments in
February, 2004 to revise the minimum
wages for all scheduled employments not
below
(A) Rs. 76 (B) Rs. 66

(C) Rs. 96 (D) Rs. 46

15. Which of the following are the“axioms' of
consumer theory ?

|. Completeness
Il. Reflexibility
lll. Transitivity

Codes :
(A) land Il only (B)oll and Ill only
(C) land Il only (D) I, lland I

16. The value of Money Multiplier is
determined by the
I. Currency ratio of the public

Il. Required Reserve ratio at the Central
Bank

lll. Excess Reserve ratio of Commercial
Bank

Codes :
(A) 1 and Il only (B) Iland Il only
(C) I and Ill only (D) I, lland Il

12.
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According to Lebenstein, the ‘Growth
Agents’ in the process of economic
development include the

|. enterpreneur |l. investor

lll. saver IV. innovator
(A) land IV only (B) lland Il only
(C) land Ill only (D) I, 1tand I

Which of the following are the methods of
repayment of public debt ?
I. Sinking fund
Il. Debt swapping
lll. Capital levy
IV. Fiscal drag

Codes :

(A) land Il are correct
(B) lland Il are correct
(C) land Il are correct
(D) Illand IV are correct

Which of the following are the aims of
WTO ?
|. promotion of free trade
Il. protection of IPRs
lll. promotion of resource flow across the

countries
Codes :
(A) lonly (B) 1and Il only
(C) land Ill only (D) I, lland Il

Which of the follewing statements about
commercial bank is correct ?
I. It is a'monetary based business
grganisation
k.. It'is a Unit Bank of RBI
lI. It prints currency notes

Codes :
(A) I and Il only (B) Ionly
(C) land Ill only (D) Il only

17.

18.

19.

. “‘f’qt.,} erohe TRghod

BDSHSE T e0sYPREans” SDp
"5 jﬁ”ﬁ"ﬂm’
I. .uﬂgﬂﬂdajm (&ﬁa&mﬁi})
Il. Eteatimm
. Zreons
IV. S5Smysorgac:
5. -
(A) 15000k VST ER
(B) HSodors I somsan
(C) ProocsiaMl sogso
(DYulg 1 5558052 1
EEBTVET (eSS LEEN0 e.d&anm;@z?‘.]
S5 2 '
5020 06
Il 206 S8y
. sore
V.

EE;_:,'

(A) 1508000 155852
(B) 1080 15350
(C) 1:06ams :53ED
(D) N s50bcms I"u’p, D53

208 708" DI WTO doo 2 GOTHED
I 25y 5gzi e BylaReleinlale
Il. IPRo%s C@&Eczv
Il 2245 Game Sogiy St FEaoi) efHg
_ BoEco
S .
(A) |50
(B) |=oBato Il S
(C) 155800 Nl 5o
(D) 1, Il

i =

rd e

s |
ER-N olaly l'::lt.;:l

Sob PEted” D&
daifl.'in..u

l. &5 ’Eﬁ@“ﬁa‘“&.ﬁ"ﬁ NGE

. =& FIEI ClooE), T NJSO..;:'

I" 23y ﬁru' 5 o mn.,\..- o &me
r.ﬁgpj
(A) 1508ats llsrmgse (B) | 5@
(C) 1:208ain III;SJ“@’E;: (D) III;SJ“@I?:Q

ne

A-05-03

www.sakshieducation.com



www.sakshieducation.com

21. Industrial Licensing was abolishedin 1991 | 21. @oa F¢3419918° oMK 8y slas)
for the following 31::;:-{:‘%:1& q
: . . WHBET SOEkD
I. Small scale industries TR, °
Il. Multinational corporations . 2508 e SaESes
lll. Export-oriented industries BE .
(A) land Il only (B) Iland Il only ,[Aﬁﬁ@m”m@ﬁj
(C) Illland I only (D) I, 1land 1l (B) 150880 Moo
(C) M 5oBaky | S
22. Which qf ‘the following are the (D) 1, 4155805 11
characteristics of the second stage of 4 s pot e
Demographic Transition ? 22. g;ﬁ ?*“‘f%é: Gl R I SLCT e
l. High Birth rate NP esse B
Il. Falling Death rate ly de3ry Sodere B
lll. Growing the average size of family I, 2580r0%ow, X008 SKex SOSrEEa
Codes :
EEEJ .
(A) land Il only (B) I, lland i (A) | 508cx0 Il 5rgts
(C) land Ill only (D) Iland Il only (B) 1, lI5eaama
: : (C) 15080 M SrEdo
23. Whll?h of the following statements about (D) 1l o800 1l 55755
service area approach are true ? ]
|. Itis a new strategy for ruralfending | 23. 20070 26 b @rod Jgld Boaofodind
& o i T AL A et
Il. It covers a cluster ofwillages in its | e 22085y RO g
operation Il o0 5end’ oo 5orTaibsis SOADNG
A C— i — VA, BT e
lll. ltis followed by rural and semi-urban . “‘:"”.*‘f.gntmf'?:_éﬁ SEes ey 0N TR
. A 200IILIe T
branches of commergial banks. e =
= 1:,:
Codes : (A) | 50800 1l 55
(A) land Il only (B) 11and Ill only (B) 1l508ct S
(C) land lllonly D) I, lland i (C) 15080 Ml Sr@ao
. ] (D) 1, 8ozl
24. For a linearly homogeneous production i
function Q=A -L* K" 24, 250 aal ednd POt
l. a+p=0 Q=A-L"-KP
Il at+p=1 . a+p=0
. f (A, 1K) =f (L, K) Il o+p=1
IV. T({AL, AK) = Af (L, K) . (AL, AK) =1 (L, K)
(Ay*land Ill are correct &,
(B) | and IV are correct (A) 150800 oo H38caks
(C) lland Ill are correct Eg% :I?‘..oao:m I:flw:-ﬁﬁo}:‘:ﬁ:}
sy Hlen HEaden
(D) lland IV are correct (D) 113580365 IV e 566552
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A random variable
l. is also known as stochastic variable
Il. has well defined probability distribution
lll. is also known as control variable

IV. is also known as target variable
Codes :

(A) land Il are correct
(B) land lll are correct
(C) I, lland IV are correct
(D) 1, land Il are correct

Under which strategy there is one optimal
choice for each player no matter what the
other player does ?

|. Dominant strategy

Il. Mixed strategy

ll. Weak strategy
Codes :
(A) Il only (B) Ionly
(C) land Il only (D) I,'Nand il

Which of the following is the eustodian of

25.

27.
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|. assure"seasonable income to the Il. ess358 Boewss BvodoNarld BEoN
farmers Foprotico
ll. encourage farmers to produce food lll. esi588 Gt TthMdern dobodotitio
crops &, :
lll. prevent food prices from rising (A) | 573
Codes : (B) H5obcs s
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The following questions consists of two
statements — one labelled as Assertion (A)
and the other as Reason (R). You have to
examine the statements carefully and
select the correct answer from the codes
given under the questions.

29. Assertion (A) : Any  reaction  of
competitors in oligopoly
market is bound to take
place after a considerable
time lag.

Reason (R) : The complexity of the
internal organisation of
oligopoly firms renders
decision-making a
lengthy process.

Codes :

(A) Both A and R are true and R is the

correct explanation of A

(B) Both A and R are true, but R is not the

correct explanation

(C) Alistrue, but R is false

(D) Aisfalse, but R is true

30. Assertion (A) : In terms @f.the labour
market analysis, Keynes
observed that in reality,
the wage rate is constant
ata certain level.

Reason (R) : Keynes observed that
the trade unions do not
agree to wage cuts
unless they are threatened
with loss of jobs.

Codes :
(A) A'is correct, but R is not correct
(B). A'is not correct, but R is correct

(G) Both A and R are correct, but R is not
the correct explanation for A

(D) Both A and R are correct, and R is the
correct explanation for A
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Assertion (A) : Schumpeter's theory of

economic Development
is not the accumulation
of capital, but the
introduction of
innovations.

Reason (R) : An entrepreneur would
have the ability to
introduce innovations.

Codes :

(A) Both A and R are correctand R is the
correct explanation for A

(B) Both A and R are correct, but R is not
the correct explanation for A

(C) Both A and R are wrong

(D) Ais correct, but R is wrong

Assertion (A) : The burden of direct tax
is not shiftable

: Direct taxes do not have
furthermarket transactions

Reason (R)

Codes :

(A) Both A and R are correct, but R is.not
the correct explanation of A

(B) Ais correct, but R is wrong

(C) Both A and R are correctand R is the
correct explanation of A

(D) Both A and R are wrang

Assertion (A): Inthe recent times, there
has been a significant
increase in the foreign
exchange reserves of
India.

Reason (R) .: The process of
Globalisation has
provided incentives
forforeign directinvestment

Codes:

(A) .Both A and R are true, but R is not the
correct explanation of A

(B) A'is true, but R is false

(Cy A is false, but R is true

(D) Both A and R are true and R is the
correct explanation of A
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34. Assertion (A) : The need for commercial

35.

banks to hold on to
excess cash reserves to
meet unanticipated
deposit withdrawals
has been greatly
reduced due to the
growth in the size of Call
Money Market.

Reason (R) : Call money market will
provide required funds
to the banks at short
notice to meet the
unanticipated deposit

withdrawals.

Codes :

(A) A and R are correct and R is the
correct explanation of A

(B) Ais correct, but R is wrong

(C) Ais wrong, but R is correct

(D) A and R are correct, but R is/not the
correct explanation of A

Assertion (A) : The Public. Sector
undertakings in India
hae shown poor
performance.

Reason (R) : Inefficient management
and political interference
are important reasons
for. poor performance
of Public sector

undertakings.

Codes :

(A) Both A and R are correct and R is the
correct explanation for A

(B) Both A and R are wrong

(C)=Both A and R are correct, but R is not
the correct explanation for A

(D) Ais correct, but R is wrong

BOPEL (A) Doy WS ST0pe
HOSPFLR wiafoty Des
TR0 GelEe DS,

= ] =
&mﬁsﬁwﬁl erBodotass
e@dans el Sht Jue
RIgres eNvondy Teley

zi“goﬁzfm BT Eﬂﬁm:’*{m

wEsH(R) D RTINS AURe D),
BT HE5E Do
VoY FEg IFOpe
EPEHuH ed B Teod’

eaofinand
-]

D gTrOBREeS gy Son
PoQoo BN AGTEs
0Ty SORDG

P it A5, Tedad
85500 (e ol Hogw
BS AGTe TR

TSP

(A) A, ReoBocr ey, A% RE0E 2508

(B) A, RexTodr &y

(C) A, ReoBodir exiyp, 50 A% RS 50es
=R

(D) Aesip, =0 R S5y

ne
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37.

38.
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Assertion (A) : According to Kuznets,
the relationship between
the income distribution
and economic growth is

inverted ‘U’ shaped.

: Asthe percapita income
increases, initial phase
of increasing inequality
will be succeeded by a
phase of decreasing
inequality.

Reason (R)

Codes :

(A) Both A and R are wrong
(B) Ais true, but R is wrong
(C) Ais wrong, but R is true
(D) Both Aand R are true

Assertion (A): Green Revolution in
India gave rise to
productivity of different
Crops.

: During the middle of
1960s, Indian Agricultural
Scientists developed a
number of_new high
yielding varieties of
wheat and rice.

Reason (R)

Codes :

(A) Ais correct, but R iswrong
(B) A iswrong, but R is correct
(C) Both A and R are correct
(D) Both A and R are wrong

Assertion (A): Slack variables are
introduced in linear
programming.

Reason (R) : The inequalities in the
constraints are to be
converted into equalities.

Codes.:

(A) As true, but R is false

(B)»Ais false, but R is true

(C) A and R are true, but R is not the
correct explanation for A

(D) A and R are true and R is the correct
explanation for A

36. oS (A)

P <3 (A)

. 5355 (A)

(AN A T

H8w @50 e;sc. o "Jlil.:.
SO N2 ?.‘:»:u;iézgj:‘;n
Soexfitso o U esso
L= e s o Twten)

: 8o esorabe WOA £
REOBT) SHHRrIse o¥
B BRHBD) WRETHSe
&5 3000

w5 (R)

ESE'\ -

(A)#A, Resdocir 855y
(B) A 2, =0 R &5y
(CY Ao, =m0 R ey
(D) Ay R oo Bodir ey

: rOBDYed” rdE JBNN0
bt B T S Tt a3oaE),
OIS Dok

- 1960@‘,’:13.‘;5_, pod erSHoE
SpSrals THNGE Ao,

58 PofieEs SIED ady

sy (R)

BRaad APy SoNEeds
B Tt

Sheows

(A) A, =0 R &

(B) A &5y, =0 Resdy

(C) A, RewBodr ey

(D) A, RecTocr &y

: 0'*‘4‘.3-5@ &3 {L, .,-.] .quﬂme,étn
o.-'_'l q.--.-' éd QJE'-F '5'31 Lo.-

ey
Wiy (R) @ $8dudoeds ansrsdas
BB BEOT SIERIE
&, :

(A) Aesne, Redy

(B) A sy, Retdy

(C) A, quuﬁud:’;?‘ 2, A £ R R0 356
50

(D) A, ReoTodr eidy, AL R&B0AS J50es

E‘l

ne
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39. Assertion (A) : In the presence of
heteroscedasticity the
method of least squares
is to be used, provided
the error variances are
known.

Reason (R) : Heteroscedasticity
destroys the
unbiasedness and
consistent properties of
OLS estimators.

Codes :

(A) Both A and R are true and R is the
correct explanation for A

(B) Both A and R are true, but R is not the
correct explanation for A

(C) Alis false, but R is true

(D) Aistrue, but R is false

40. Assertion (A): Kaldor studies the
relation between growth
in population and growth
in income.

Reason (R) : Kaldor tried to test the
Malthusian contention
that the growth rate of
population is a function of
the rate of increase in
income.

Codes :

(A) Both A and R are true
(B). Both A and R are false
(C) Alis true, but R is false
(D) Aisfalse, butR is true

39. EorE(A) 1 SRR BELNT, e

RIS e
ST SIS

QAT

859 (R) ¢ el JDeBt, S8 STre

565 o) umﬂ“‘*@ﬂ%ﬁ
WOEG ofiToln
SU&F&EG-‘SJK;}

EEEJ .

(A) A, RooTodr ety ASRBS

ivlelac

]

oS
(B) A, ReoBocr ailp, A RSN 0508
5h0
(C) A&y, Resy
(D) A e, R

. BOFES(A)  : wTrers 03d, eorods o
l.::ln.,.: wl G

Sogighe Howogdy To0b
c,'5§ OO0 DETCD

F -Ja ; .
&0 (R) 1 e wOoMdese ook
DG P ERoabem By
fm%:u 2 e Erairiy
shictotas seb
=]

bf]“]

(A) Asodaro Resiy
(B) A 58030 R &35y
(C) A, Ragy
(D) A &5y, Resdy
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integration of the ) )
. a0 D8 Hab Bodste
countries and people of
the World. oap(R) 1 STl cis Duso, 555
Reason (R) : Revolutionincommunication eSS0 SohodEe Se
technology and removal b .. Sl
of barriers to trade eSS Lk
accelerated the process STSOERHG
of globalisation.
EEET:', .
Codes :
(A) Both A and R are correct { & i Resy
(B) Both A and R are wrong (B) A mstoio R &y
(C) Both A and R are correct and R is the (C) Aot R sy, A% R 5668 J568
correct explanation for A - .
T , e, - = By
(D) Both A and R are correct, but R is-not (B PO R 2 R SRa s Sate:
the correct explanation for A oD
42. Assertion (A) : The ad?ptﬁon.offa'rm 82. goFus(A) 1 SEaned oSro@istes
mechanisation in agnculture
B ueEo grdsdaT s
poses agreat challenge =
for India, e el
Reason (R) : The agrieultural land rso (R) . ;35;351**&:(:: ESameny SIS
holdings are small and b, 55T Dot
fragmented that are not o
conducive for farm SDRRHROCR CXTro@Ssties
mechanisation. oSTOdro S
Codes : 5. -
(A) Both A and R are true but R is not a A A R = AR ks
ol ey, A S H Sz J50e
correct explanation for A ekl B e =
(B).Both A and R are true and R is the (B) A, ReoTodr iy, A % R 5001 25083
correct explanation for A (C) A, R eoBods 85
(C) Both A and R are false _
: . (D) Aey, Rasy
(D) Ais true but R is false
ne 14 A-05-03
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43.

44.

According to the managerial theory of firm,
the correct order of management from the
top is
I. Top Management
Il. Owner Share-holders
lll. Financial Managers
IV. Board of Directors

Codes :
(A) 11,1V, I (B) I, IV, 1101
(C) 1,1V, 1, | (D) 1,00 1V, 1

Identify the correct sequential order of the
following based on their liquidity.
I. Bonds and securities
Il. Demand deposits
lll. Time deposits
IV. Currency notes

Codes :
(A) 1,010, 1V
(C) IV, 1L, |

(B) I, 1L, 1V, |
(D) IV, 11, 1Il, |

43. o8 s oo [P, oﬁw:@:;-éoés B
3 «JUg z 2

000 HOGID 5 E50:30
. oy aresrssiR
Il. arﬁéi’g:ng ohELTRen
. 20 Sors e
IV. JGEse SSor@soo
&,
(A) 1, 1AV
(Cyll, IV

(B) 11,1V, 1,1l
(D) 1,11, 1V, 11

- S8Bre Y Tred (E5E) e Sorn DinE™ Sy

D0 SO 50 MoGotodon
l. &ﬂ@cﬁg,?}i‘-“é&ﬁm
Il &oorochs Gt
I, &30 Gadreiens

& :

(A) 11,00V

(C) IV, LI,

(B) I, I, IV, |
(D) IV, 11, 1Il, |

45. ldentify the correct chronological order of : . _ " -
the economists associated “with - h%éfﬂﬁ“ﬁafﬂ e st vy
“Exploitation/Dependency theory™: ‘f”é‘%"ﬁ% ©EEge clog), B0GLD TTOEETY)

MSICL 0120
I. Frank L ok
Il. Baran L erss
lll. Furtado I, e
Codes : S, : )
(A) LI (B) 1, 11,1 (A) 1,11 (B) I, I, 1
(C) 1,1, (D) N1 (C) 1,1, 11 (D) 1,1, 11

46. Arr';ange the following in the chronological . 200 T T ToEsT wed Frotntnatn

order e G

. Expenditure tax : éﬁm‘_' "OED;J“‘ )

R e L e T TR

l. Taxen railway passenger fares Il Q‘:’J e °f'“c"' T 2 20y

lll. “Estate duty I, 2ea0 BoosEe

IV."Service tax IV. o7 Sy
Codes : 8%,
(A) LI TV, 1 (B) HL 111V (A) LIL IV, 1 (B) 1L 1,10,V
(C) 11,1, 1,1v (D) IV, 1L 1 1 (C) 1L, 1L, 1,1V (D) IV, 1L, 1,111

ne A-05-03
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47. Arrange the following Regional Blocks in | 47. 2o @rodal orons wred DU ($550) wed
the order of their establishment. Frotiasiiosas
. EFTA . EFTA
. SAFTA . SAFTA
. ASEAN . ASEAN
&RE_ .
Codes : . 5%3 g
(A) 11,11 (B) L, 1I,1 (A) 1,10, 10 (B) N, 1,1
() 11,11 (D) 111, 1,1 (C) 1,1l (D) L, Ln
48. Arrange the following in the order of their | 48 ERERERE0T e S0l Tedd Fotiuninme
introduction. |, S ot gk
|. Service Area Approach |I. % 20856
Il. Financial Inclusion m %%ﬁ: S50
lll. Lead Bank Scheme
5°E,
Codes : W
(A) LI (B) 1L 1,1 (A) L1, (B) L1, 1
(C) 110,11 (D) I, I, | (C) 1, n (D) 10, 1,1
49. Arrange the following in chronological | 49- Se8=¢o =l $3008" FociREEH0
order. l. ey H0Es0e oo
I. District In.dustnes Centrfa . I .::-‘.i'ﬁwém @a@—m—;‘r{s 5050 990
Il. Monopolies and Restrictive Trade
Practices Act ll. FE@E=f efsyg 320000 JoboBen
lll. Industries Development and S50
Regulation Act <E. .
Codes : &
(A) 111,111 (BY 11,1, | (A) 11N (B) 1,11
(C) 11,11, 1 (D) I, 11, 1l (C) 1,1 (D) 101,
50. Identify the correctorder of States based | 50. 2004-05 &' &0y Ud wgdom Tage
on the poverty ratio in 2004-05. _ _
0G0 E5ra oo
Codes :
(A) Andhra Pradesh, Karnataka, Kerala, 55&:
Tamil"Nadu
(B). Karnataka, Andhra Pradesh, Tamil (A) SogHDE, ST, 30¥, BT
Nadu, Kerala 5 S
(C) Andhra Pradesh, Kerala, Karnataka, ®) "Uﬁmg SOGERE, Brchs, 35
(D) Andhra Pradesh, Karnataka,
Tamil Nadu, Kerala (D) sﬁoug;ﬁ;;u?.!w&saz, BT, 0¥
s A-05-03
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0
51. Select the correct order of the following | 51. arro I3 80ed | Zo8iRd dhok), H0ARE
based on the size of the Service Area. B9, JobE Dabod
I. Primary Co-operative Bank R e eMe
Il. State Co-operative Bank Il ogises gffos
ok
lll. Central Co-operative Bank . Bos 5:ses RS
Codes : 5%
(A) L1 (8) 1, 1,1 (A) 1,11, 11 (B) 1L, 11,1
(C) 1,1, n (D) WL 1,0 ©) 1,1l 1 (D) 1,1, 1
52. Ar‘;ang;at hthg follt.:m:ing tcontce;t]f irll the 52. g B tioe J85enE E5IrRcD (857 eed
order of their use in Inpu —.ou put Analysis. B raons> FosontErso
I. Output Vector (Matrix) NN S
i : b 6555500 Do) HEOH (RoSE)
IIl. Transactions Matrix _as :
: . I otde Srds
lll. Technological Matrix .
IV. Technological Coefficient IR e
: V. Srodds ese
Codes : -
(A) 1,11, 1V, 11l (B) 11,1V, 1, 1 =
(C) 1,1, 11, IV (D) IV, 1L, 1, I A) LIV, i (B) Il,Iv, 1,1
(C) 1L, 1,1, 1V (D) IV, 11l 1, 11
53. Arrange the following concepts in which o _ - n
they are used in econometric analysis. | 53. ©35:8 Jgued &IAFNCD ESTmy God
|. Identification problem Raeeiiornoti
Il. Reduced form coeffigients . 755009 S
lll. Rank and order conditions I:: r‘f’j* A e od
=2 i e Tt
IV. Structural coefficients Sk
V. Jdogrg S ibestes
Codes : e
Ay S i:al'lll I, v B) NI LIV, I
(C) 11V, | (D) IV, I 110 (A) LI, (B) 1,1, 1V,
(C) 11,1V, 1, | (D) IV, I, 1, I
54. Arrange the fallowing in the order of their R S 4
occurrence in the multiplier process. 54. ‘Eﬂ?j’ ° BSOS S 20 0] odTedd
PRl P S
I. Currentlevel of Income L E5e508 o3 escaosas
Il._Additional Investment Il e ;::&qgmd.
.. New Equilibrium lll. 5588 Sbodegos
IV:=New level of Income IV. 5588 o estraiuion
Codes : EEEJ :
(A) IV, IIL LTI (B) IV, L 11 (A) IV, 10,1, 11 (B) IV, 1, 11,1
(C) LI,V (D) WL, 1L, IV (C) 1,1, v (D) ML,V
ne A-05-03
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55. |dentify the correct chronological order in
which the Indian Rupee was linked to
various currencies.

(A) Pound sterling, Basket of currencies,
Dollar

(B) Dollar, Pound sterling, Basket of
currencies

(C) Basket of currencies, Dollar, Pound
sterling

(D) Pound sterling, Dollar, Basket of
currencies

56. Arrange the following in the chronological
order.

I. Agricultural Prices Commission
Il. Foodgrains Prices Committee
ll. Commission for Agricultural Costs

and Prices
Codes :
(A) 1,1, 10 (8) 1, 1,1
(C) L, n, 1 (D) 1,10

Note : Match List — | with List — lhand select
the correct answer from. the codes

(ANGERT AR
55. 20¢ 50ef artd SridSie, esonoT
eed SO E5T°3 MHZot i
(A) 2ok ;300f, Fheistorsn, @b
(B) wob, ok HOOR, $oMe S50
(C) sBaneRusmgsw, b, ok H0oh

(D) TFgligeor, mob, ol B8arTrses

56. =olS8moeed $ob Tredd drodhitiiotn
PRS00 5o 806
0. 5385 5o $oo £

lll. s55s3ra Sgoires, Goe 5756

g, :
(A) 1L 1,1 (B) 1,11

(C) 1,1 (D) L
BPo 2o erfiee Sood SOdLD TR Sl
EBAPAOW BB BB

given below 57. whoe-| Do — |l
57. List-I List—1I a) eroh Haress I35 1. 20003
a) Marginal utility 1. Behaviourist 0030
analysis cardinalism b) émbg 550 :_;}Jr 2 g;z,-a 2EHES
b) Indifference curve 2. Behaviourist st DeaSy
analysis ordinalism P . m
c) Revealed preference 3. Introspective e = i;‘ida;*gf
analysis cardinalism o S ores T c as
d) Modern.utility theory 4. Introspective | O S&osEdrendgn 4 3067y
ordinalism g0
Codes : £&,
a b c d a b ¢ d
(A3 4 2 1 A3 4 2 1
B)3 2 4 1 B3 2 4 1
(C)1 2 4 3 1 2 4 3
D)3 2 1 4 Dy3s 2 1 4
e A-05-03

www.sakshieducation.com



www.sakshieducation.com

58. List-1 List=1I 58. =ho—| oA o ||
a) Dudley Dillard 1. Keynesianism — a) 2édab 1 iﬁﬁ‘;}mfm-apﬁhﬁj
Retrospect and e : ’
prospect SOC ERE
b) R.F.Harrod 2. The critics of b) 0.5, 5ob @y OEelE ed 435S
Keynesian J50E,
Economics
o) Henry Hazlit 3. The life of John| © &R "88. 885ehers2wgis
Maynard Keynes d) €Eeay. w4, &.:E"E‘ﬁs% esh &, o,
d) W.H. Hutt 4. The Economics of J.M. &5
Keynes &g -
Cud:s -b 52 a b c d
(Ay1 2 4 3
A1 2 4 3
B4 2 3 1
B4 2 3 1 ©4 3 2 1
)4 3 2 1 D3 2 4 1
D)3 2 4 1
59. List—| List—II 5. =ow-1 whe-|l
a) Learning by doing 1. Adam Smith a) SUDotripEiie . et s
b) Division of labour 2. J.R. HickS b) 5> Jgesis 2. 26055
c) Stationary State 3. K.JeArrow C) QB s 3.3.8.¢0
d) Technical progress 4. J.S. Mill d) Fro3ds g 4. .00, Wd
Codes : &
a b cd a b ¢ d
(A)3 1 4 2 A)3 1 4 2
B4 3 2 B)4 3 2 1
€1 2 3 4 C1 2 3 4
@3 1 248 D)3 1 2 4
60. Which of the follewing is not correctly
matched 2 60. 200 TIE’ SO eBBEBIO 20 2
(A) Gadgllrformu!a - F’b{nng Gmm (A) maE e — ST Borioo
(B) Calamity Relief —Union Finance
Fund Commission (B) 2orwed 885 50& —Boigs 28 Hosvo
(CyState Finance - 73" and 74" _ , |
Commission Constitution (C) ogag sowo pli oo
(Amendment ) Act ool (1555560) $590
(D) Impositionof  — State Government . _
N —— (D) wor St dfey  —orpubThes
ne A-05-03
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61. List-1

a) Infantindustry argument
b) Factor price equalisation

Theorem

c) Opportunity cost
principle

d) Absolute cost
advantage
Codes :

a
(A) 1
(B) 2
(C) 3
(D) 4

62. List-1I

[\* R ey
= P

L = = O

www.sakshieducation.com

List=1I
1. Adam Smith
2. Haberler
3. Fredrich List

4. Samuelson
5. David Ricardo

List-1I

a) K.S. Krishna Swamy 1. Working of Indian

Committee

Monetary System

b) Narasimhan Committee 2. OnSite Supervision

¢) S. Padmanabhan

Working Group
d) Chakrabarthy
Committee

Codes :

a
(A) 2
(B) 3
(C) 4
(D) 1

63. List—I
a) R.K. Hazari

W kwo
LM =0

b) C. Ranga Rajan
¢) Omkar Goswami
d) Arjun Sen Gupta

Codes :
a
(A) 3
(B) 5
() 3
(D) 4

MM
(VI S Sy

o = = 0

— b f ek (T3

of Banks

3. Priority Sector
Lending

4. Profitability of Public
Sector banks

List—II
Committee on Public

Enterprises
M.R.T.P. Act
Industrial licensing
Industrial sickness
Disinvestment of
shares

A0 O
61. w=loe-I -l
a) s DOED TEn b sa S
b) 0% 5 Somiss; ot Teid
C) w5 9500 JrEH 3. @&oS 85
d) DS HO0 woEres 4. T50rSss

5. &6 oG
s, :
a 4 C¥ d
A1 € P 2
(B)'2y, ™5 4
QO N 2 1
(DY 4p02 1 3
62." &lc -1 o=l
By K.S. Ea3mo 50 1. groSol (3 9558
B $E® :
b) sotoiro e 2. 300 B¢ eryothe
SO
C) S.:3ETESNooR TS 3. Proriy domeH
222087 S
d) SESS &0 4. SEEsoK ergotde
TETONES
3 E.,{I .
a b ¢ d
A2 3 1 4
B)3 4 2 1
)4 2 3 1
D)1 3 4 2
63. wioe-| wice -l
a) 5.3, 5erb 1. HEbS; Sol Hode
5200e3 )
b) . SoricresS 2. (M.R.T.P)
cba.esb.e3. 2 tegion
C) fozb Ao 3. 360w Bhdoh
d) @S s o 4. FOELE o
5. 2P & Hordes
Eﬁg‘j : :
a b ¢ d
(A)3 5 4 1
B)5 2 1 4
)3 2 4 1
D)4 3 2 1

ne
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List—1I

a) Reproductive age-group 1. 15— 24 years

b) Infant age group
c) Youth population
d) Young population

Codes :
a b c d
A3 4 2 1
B4 2 1 3
c)4 2 3 1
D)y1 3 4 2
65. List-1

Agriculture Input

a) Fertilizer

b) Electricity

c) Irrigation

d) Other subsidies
Codes :

a b ¢ d
A4 3 1 2
B3 4 2 1
c1 2 3 4
Dby2 3 4 1

66. List-I
(Techniques)

a) Differentiation
b) Integration

c) Input-output analysis

2.0-1 year
3. 15-35 years
4,15 - 44 years

List-II
Subsidy during
2008-09 (%)
1. 20.61
2. 47.60
3. 17.08
4. 14.71

List =1l
{Applications)
1. Consumer surplus
2. Elasticity
3 Optimisation
subjectto
constraints

d) Linear programming 4. Inter Industry

Codes:

a. b c¢c d
A1 4 3
Bpdy 4 2 1
)4 3 1 2
o1 2 3 4

relationships

64. wio - Sho -l
a) DSBS Dok 1. 15— 24
VeI
b) 2:5:5¢5% Saxbiy 200 — 1 Hesedo
C) eruytE (cbre) emgr g 3.15-35
4

i 2
e i

d) oI o8 (ool ) esoer 4. 15— 44
ONENTPED
Eﬁg‘j .
a LmpCe®d
A3 4 2 1
(B)4y 21 3
(G4 "2 3 1
DY B 4 2
65. =i -1 o=l

SO G0 EDDB—DQ &

S

a) Do 1. 20.61%
b) Jcog5ed 2. 47.60%
c) Delrmde 3. 17.08%
d) 380 @S aFfares 4. 14.71%
&,
a b c¢c d
A4 3 1 2
B3 4 2 1
1 2 3 4
D)2 3 4 1
66. =loe—| pdtaal ||
a) e 1. DdSAFNTE dotoad
b) ErSeiso 2. TE GO
C) emnit-ehd T 3. S0WTLE Lrds
edespiohs
d) o558 Gerds 4, woBS HoEY
Hosoires
8%, :
a b ¢ d
A2 1 4 3
B3 4 2 1
c4 3 1 2
Dyt 2 3 4

ne
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67. Which of the following is not correct ?

(A) Classical range — Monetary policy

(B) Neo-classical range — Income policy

(C) Keynesian range — Fiscal policy

(D) Intermediate range — Both fiscal and
monetary

policies

68. Which one of the following is not correctly

matched ?

(A) B.K. Keayala —Explicit concensus
(B) Marakesh declaration — Patent Laws
(C) Dunkel declaration — Tariffs and Trade
(D) Doha declaration — Social clause

69. Which one of the following is not correctly

matched ?

(A) Agriculture — Green Revolution
(B) TRYSEM — Self Employment
(C) MGNREGS - Wage Employment

(D) IRDP — Urban Basic Services
70. Which one of the following is not correctly
matched ?
(A) G.Myrdal — Asian Drama
(B) Karl Marx — Das Capital
(C) Kuznets — Strategy of Economic
Development

(D) Murkse R. - Prablems of Capital
formation in Under

Developed Countries

Para - Phrasing

(Q. 71 -75) : Answer the questions from 71 to
75 by reading the following passage

Maijor Pillar of the Post- Washington Consensus
is the identification of poverty reduction as an
immediate.objective of development assistance
rather than a consequence of the economic
growth the assistance is designed to stimulate.
By nature, market competition is a strong
instrument for increasing economic efficiency
but 'not an instrument for improving equity. If
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poverty reduction is considered an overarching
immediate objective, non market instruments
may have to be used to redistribute market-
produced income in favour of the poor. More over,
if poverty is viewed not simply as receipt of a
less than socially allowable minimum
subsistence income, but also as a restrictions
in human capability, in the sense used by
Amartya Sen, then social services such as,
education, health and social safety nets must
be delivered to the poor through non-market
channels. Linking these two pillars brings to the
fore the importance of non-market institutions
such as Government and Civil society.

71. What is the objective of development
assistance during post Washington
consensus period 7

(A) Employment generation
(B) Poverty reduction

(C) Social Justice

(D) Promotion of health

Market Competition promotes
(A) Equity

(B) Education

(C) Efficiency

(D) Environmental quality

73. How does Amartya Sen define poverty ?
(A) Failure to getrequired income

(B) Failure to getrequired food

(C) Failure to get adequate calories

(D) Restriction in. human capability

74. What are the social services ?
(A) Education

(B) Health

(C) Social safety nets

(D). All. the above

75. What are the non market institutions ?
(A) Religion (B) Government
(C) Civil society (D) Both B and C
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ECONOMICS - PAPER - llI

(SUBJECT CODE-05)

o

mm-qmmhmm-\'z

A
J:-UUmumunuuumnnmmmhmnnummhg

Q.No | KEY
26
27
28
29
30
31
32
33
34
35
36
37
38
39
40
41
42
43
44
45
46
47
48
49
50

WOWOIWPOWLO(FO|CO0|PIPIO0OXP 000w

Q.No

51

52

53

54

55

56

57

58

59

60

61

62

63

64

65

66

67

68

69

70

7

72

73

74

75

A
UUUﬁmﬂﬂﬂmhﬂm}mﬁﬂhﬁ}}-ﬂﬁﬂmﬁg

www.sakshieducation.com




	ECONOMICS_PAPER-III 1 copy.jpg
	ECONOMICS_PAPER-III 2 copy.jpg
	ECONOMICS_PAPER-III 3 copy.jpg
	ECONOMICS_PAPER-III 4 copy.jpg
	ECONOMICS_PAPER-III 5 copy.jpg
	ECONOMICS_PAPER-III 6 copy.jpg
	ECONOMICS_PAPER-III 7 copy.jpg
	ECONOMICS_PAPER-III 8 copy.jpg
	ECONOMICS_PAPER-III 9 copy.jpg
	ECONOMICS_PAPER-III 10 copy.jpg
	ECONOMICS_PAPER-III 11 copy.jpg
	ECONOMICS_PAPER-III 12 copy.jpg
	ECONOMICS_PAPER-III 13 copy.jpg
	ECONOMICS_PAPER-III 14 copy.jpg
	ECONOMICS_PAPER-III 15 copy.jpg
	ECONOMICS_PAPER-III 16 copy.jpg
	ECONOMICS_PAPER-III 17 copy.jpg
	ECONOMICS_PAPER-III 18 copy.jpg
	ECONOMICS_PAPER-III 19 copy.jpg
	ECONOMICS_PAPER-III 20 copy.jpg
	ECONOMICS_PAPER-III 21 copy.jpg
	ECONOMICS_PAPER-III 22 copy.jpg
	ECONOMICS_PAPER-III 23 copy.jpg

